s 6-8
Aw
. ! I I
g N ittt T
N & == _\% Ml_
§< [ \J
N A 4

L
Ornopa oHOPsIIHASL OT/ACbHAS
1 - cko6a Tuna CO (4ept.16, Ta6i.13); 2 - koucous; 3 - 6ounr mo F'OCT 7798-70; 4 - raiika no 'OCT 5915-70

Iudp Hapy:xubiit gpameTp A Jnametp u annHa 6onta | Macca, KT
OTIOPBI TpyGomnposoaa, J{H (1103.3)
OK-50 50 76 MB8x16 0,09
OK-63 63 90 0,10
OK-75 75 102 0,11
OK-90 90 120 0,13
OK-110 110 140 0,15
OK-125 125 160 M10x20 0,33
OK-140 140 175 0,35
OK-160 160 195 0,38
OK-180 180 216 0,51
OK-200 200 240 0,68
OK-225 225 265 0,73
OK-250 250 293 0,95
OK-280 280 325 M12x25 1,08
OK-315 315 360 1,21
OK-400 400 460 M16x30 2,40
OK-500 500 560 2,88
OK-630 630 690 3,52
Yept.1
Tabnuna 2

Pa3mepsl B MM

[Tpumep ycinoBHOTrO 0003Ha4YEHHs ONOPHI OAHOPsHOI TpyOonpoBonos Ju=110 mm: Onopa OK-110 OCT 36-17-85
OTIEIBHON JIIS TIaCTMAcCOBBIX

udp onopsr

Hapyxus1it amametp TpyOompoBoaa, JIx

[Juametp u uuna 6onta (1m03.3)

Macca, kr



OK-50 OK-63 OK-75 OK-90 OK-110

50
63
75
90

110

76

90

102
120
140
M8x16
0,09
0,10
0,11
0,13
0,15
OK-125 OK-140 OK-160 OK-180 OK-200 OK-225 OK-250
125
140
160
180
200
225
250
160
175
195
216
240
265
293
M10x20

0,33



0,35

0,38

0,51

0,68

0,73

0,95

OK-280 OK-315
280

315

325

360

M12x25

1,08

1,21

OK-400 OK-500 OK-630
400

500

630
460

560
690
M16x30
2,40
2,88

3,52



